fRHILDHIE R

STOCK SPRINGS.

7 — y : Lt 7;?:
FRAZTY LM R
SUS304-WPB ‘ §€§ m
> :
BIEH% (PM5: 00 TaiEx) ¥ \i\\ ' Q\ e
N\ < 9
N K b orE
‘ VP IS
ML Fy MIEVWTBIFEEBA EELZOY IJ#)RUDER
RUVIERICKDRIDEEHBLLE
@ ® @

V @ ;"“Y \

| L © i G

N/ 4 /‘ U \//,'/’ . / Yy : > { : n'/,f"' l U é
\;\ / rw‘ \‘ | \"’ﬁ\

MR TORRTEERVET
= sy (=) B & E & mm ) s M
NRES ES i - - = 19AK — P
91-0001 | M5x0.8 (6.0) 0.8 15 20 10 2,800 2,400
91-0002 | M6X1.0 (7.5) 1.0 18 23 10 3,000 2,600
91-0003 | M8x1.25 (10) 1.2 22 27 10 3,300 2,800
91-0004 | M10X1.5 (12) 1.4 25 30 10 3,600 3,000
91-0005 | M12x1.75 (14) 1.6 35 40 10 3,900 3,300
91-0006 | M16X2.0 (19) 2.0 40 45 10 4,200 3,600

*1 EESINDSE. MR HE THER

MY GV EUNN\ S S - Hif .

STOCK SPRINGS.
(T CCLLELLTy
FREAZFYLRHEE Wl
1HIY\II“II{lﬂ\N\IIV\‘l‘llly:l‘l‘\\illl‘\y"l.\bl’l:"‘:l‘!‘\‘h

SUS304-WPB ===
BN 5% (PM5: 005 Tz ~ 18

L2

2] i il ’ @

KRB TOIRFEEIRIE T,
P i < * ® ®E BEE L B L2 - s /M

NRES BRERY - mm mm . 1RAE 1~4 5t
F7301 15 30

- . . 10 2,400 2,000
F7302 N3 (3.5) 0 25 45
RRES M-4 (4.9) 0.6 Z8 40 10 2,600 2,200
F7304 ’ ’ 30 55 ’ ’
F7305 25 50

- . . 10 2,800 2,400
F7306 M= 6.0) 0.7 35 65
R0 M-6 (7.5) 0.9 30 €0 10 3,000 2,600
F7308 ’ ’ 40 75 ’ ’
F7309 35 70

- . 1.0 10 3,300 2,800
F7310 M-8 (9.7) 45 85
R M-10 (12.0) 1.2 40 80 10 3,600 3,000
F7312 ' ' 50 95 ’ ’

EHE 32 CABMETT .

RAFUVTRYNES

ERrbrocEmpme ~ WWW.spring-net.com




A7UyoO-ivey

STOCK SPRINGS.

oA
SuUS420J2 WE (C & BB IS

H 2 1~4% 58~
{8515 [iEES 15%

HRC42~48
ENEFEE (PM5: 00 T3 x04) ¥

ERIOMRSERLTS | g,

O%W

UMe—ONVEUN .

|

WDDBRATAFEVOME ECHFBRAMBEEL. DRI AF1/3(D1+D2+D3)ET %, KRBT ORTFTEBIE T 8547 mm
F U & 1.6 2 2.5 3 3.5 4 4.5 5 6
EYa | Bk 1.8 2.25 2.75 3.25 3.9 4.4 4.9 5.4 6.4
D B\ 17 2.15 2.65 3.15 3.7 4.2 4.7 5.2 6.2
t B 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1 1.2
—EUANEE| kN 1.68 2.76 4.31 6.2 8.45 10.8 13.96 | 17.25 | 24.83
e~ |BRAARAE|] 16 2 25 3 35 4 45 5 6
wEE v om o= | 008 +g.e8 3
% % & = | R1608 | R2008 - — — — — =
8*°|1 & A % | 500 400 - - - - ~ —
1 5 ffi #% | 1,500 | 1,400 - - - ~ ~ ~
% = % = | R1610 | R2010 | R2510 | R3010 - - - - -
10 79511 & A # | 500 400 400 300 - - - - -
1 % ffi #% | 1,500 | 1,500 | 1,700 | 1,600 — — — — —
% % & S| R1612 | R2012 | R2512 | R3012 | R3512 - - B =
127 |1 & A #®| 400 400 300 250 250 ~ - - -
1 % f #% | 1,500 | 1,700 | 1,500 | 1,500 | 1,600 - - - -
% % & = | R1614 | R2014 | R2514 | R3014 | R3514 | R4014 - - -
14% |1 &% A #| 400 300 300 250 250 200 - - -
1 % f # | 1,500 | 1,400 | 1,600 | 1,600 | 1,700 | 1,500 - — —
% & & = | R1616 | R2016 | R2516 | R3016 | R3516 | R4016 | R4516 - -
16 %) |1 &= A #| 400 300 300 250 200 200 200 - -
1 % ffi # | 1,500 | 1,500 | 1,700 | 1,700 | 1,500 | 1,600 | 1,700 - -
BeE S - R2018 | R2518 | R3018 | R3518 | R4018 | R4518 | R5018 -
184 |1 8 A % - 300 250 200 200 200 150 150 -
1% i #% - 1,600 | 1,600 | 1,500 | 1,600 | 1,700 | 1,400 | 1,500 -
R E S ~ R2020 | R2520 | R3020 | R3520 | R4020 | R4520 | R5020 | R6020
207 |1 & A m - 300 250 200 200 150 150 150 100
1% i 48 - 1,700 | 1,700 | 1,500 | 1,600 | 1,400 | 1,500 | 1,600 | 1,300
BeE S - - R2525 | R3025 | R3525 | R4025 | R4525 | R5025 | R6025
257 11 & A B - - 200 200 150 150 150 100 100
1% i #% - - 1,600 | 1,800 | 1,400 | 1,500 | 1,600 | 1,200 | 1,300
T - - - - - R4030 | ¥R4530 | R5030 | R6030
307 |1 & A - - - - 150 100 100 75
1% fi 48 - - - - - 1,700 | 1,200 | 1,300 | 1,600
R E S - - - - - R4536 | R5036 | R6036
367 |18 AH - - - - - - 100 75 50
1% i 4 - - - - - 1,400 | 1,500 | 1,300
B E S - - - - - - - R5045 | R6045
451 |1 8 A % - - - - - - 50 50
1% i % - - - - — — — 1,200 | 1,700

HRAB30FEERER TY BN S RRBE T LIRIET
1 EEBINDISE . MRS 1
RNHH&EL THRFBIE T,

130



